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Kyoto E

J10nly Parties to the UNFCCC can becomeg
Parties to the Kyoto Protocol.

Cuts in emissions of about 5.5%, compared=
with 1990 levels, by 2012. —

JDoes not include the emissions by the'=
International aviation and shipping. =,




Basic Structure E

 Marrakesh Accords : The detailed rules for the &
implementation of the Protocol were adopted at COP G
7 In Marrakesh, Morocco, in 2001, and are referredmms

to as the "Marrakesh Accords “ y —

JThe US has not ratified the Kyoto Protocol, while |E
Canada denounced it in 2012. The Kyoto Protocol K
has been ratified by all the other Annex | Parties. o

1 Its first commitment period started in 2008 and f—1
ended in 2012. =

JThe second one runs from 2013-2020 and is based
on the Doha Amendment to the Protocol




Non Annex

Annex A

Annex B

Annex in kyoto

Annex Il (23)

Required to provide financial resources to enable developing
countries to undertake emissions reduction activities under the
Convention and to help them adapt to adverse effects of climate
change. They have to "take all practicable steps" to promote the
development and transfer of environmentally friendly technologies
to EIT Parties and developing countries

mostly developing countries. 49 Parties classified as least
developed countries (LDCs) by the United Nations are given special
consideration under the Convention

six gases: carbon dioxide, methane, nitrous oxide,
hydrofluorocarbons, perfluorocarbons and sulphur hexafluoride.

Lists the 39 countries and their respective emission target for
the first commitment period.




Flexibility Under Kyoto

Mechanism




Qs

JU. Consider the lollowing pairs : 30. F=iataa gq =1 R faEm Hifs
——— _ H-FHdl FHEE A 3@ ITEHT gA =
Terms sometimes Their ongin =
seen in the news WA AT e
Annex-1 Countries : Cartagena Protocol . THEE-] 29 R CECIRCIE S
Certified Emissions . wifUre IeEeE Haadl ;. AFNg MAEE
Reductions : Nagoya Protocol (afZwEs v
Clean Development frzamra)

Mechanism :  Kyoto Protocol < fwma Benff . i ST

Which of the pairs given above is/arc (FAH Bawae
correctly matched? BhfAa)

fa) 1 and 2 only g |} AA-91/A 7w v gafad 2/E7
(b) 2 and 3 only (a) Faa 1 3N 2
(c) 3 only (b) a2 3N 3

(d 1,2 and 3 () %a 3
(d . 1, 23W3




Kyoto Continue..(Warsaw)

- WIME: (
P [ g

dA): Aims to find ways * Plus: Deforestation

to address the issue in “*sustainable

developing countries management of forests

- **Increasing forest
that are particularly carbon stogcks

vulnerable to the < Forest conservation

adverse effects of Fun FoqutFCagan e
climate change. artnership Facility (WB)

* First review in Paris &
Next 2019




